NAVRACHANA UNIVERSITY 
BBA LLB ENTRANCE EXAMINATION- SAMPLE QUESTION PAPER 

SECTION A- ENGLISH
1. In the paragraph below there are five sentences. In each sentence there are pairs of highlighted words (A, B). Select the most appropriate words to form correct sentences. Then from the options given select the correct option. 
Internationally high rise walls serve as street A) paintings B) canvasses. In Delhi and Gurgaon artists have A) earmarked B) earmark a district and after civic authority A) compliance, B) grant transformed it into a throbbing art district. A walk through the A) instalment B) installations for public interaction is A) instituted B) envisaged. It is hoped that this will discourage defiling city’s public places. 
The correct sequence should be: 
A. ABABB 
B. BABAB 
C. BAABB 
D. ABABA

2. Identify the incorrect sentence/sentences.
A) It is important to monitor the groups. 
B) Check that the instructions are clear, and tell the students to begin. 
C) Inefficient bus service are a hazard. 
D) Traffic in the city has reached unsustainable levels. Code
A. A 
B. B 
C. C 
D. D

3. Four alternative summaries are given in the text: Choose the option that best captures the essence of the text. Develop Critical Thinking The way we see the world and relate to others is intrinsically connected to our own set of values that govern the way we decide to live. However, the influence of fashion, consumerism, pop culture, broken homes, social unrest, and the media is all-pervasive. For many people, teachers and students alike, this influence goes unquestioned. Critical thinking, if successfully taught at this level, becomes the antidote for individual and social illiteracy. For the authors, critical thinking should constitute an indivisible part of the overall educational process. Facione (1995) comments: ‘Critical thinking lies at the root of civilisation. It is a cornerstone in the journey humankind is taking from beastly savagery to global sensitivity’. Supporting the development of these skills involves reflective teaching and learning, which is highly complex and which some students may find difficult, or interpret as weakness on the part of the teacher. But in the long run, with patience on the part of the teacher, it will develop students who can view old or new material, from a variety of sources, through new eyes, using their skills to define their own stance and express it, often better in their second language, with an open-minded confidence.
A. The world view of the human being today is influenced by a lot of things. Critical thinking cannot be taught as it involves reflective teaching and could be misunderstood. 
B. Critical thinking must be part of an individual’s education but it is a difficult concept because it very often reflects a teacher as a dominating individual. 
C. Critical thinking is an important aspect of an individual’s literacy level and his social knowhow. It is part of civilization and eventually leads to global sensitivity. Students can look at information in a variety of ways. 
D. Reflective teaching is another aspect of initial thinking and it could lead to individual and social illiteracy.

4. The word given in each of the sentences is used contextually. Pick the word from the alternatives given that is most inappropriate in the given context. 
PRUDENCE - Prudence and sacrifice help us in meeting the future.
A. caution 
B. reckless 
C. foresight 
D. judgement

5. The word given in each of the sentences is used contextually. Pick the word from the alternatives given that is most inappropriate in the given context.
OSTENTATION - Ostentation in wealth and living styles can sometimes turn vulgar.
A. pageantry  
B. display 
C. modesty 
D. flourish 

6. Answer the question, based on the following information. Indicate which of the statements given with that particular question, is consistent with the information given in the passage below.
A Holistic Viewpoint
It is now recognised by modern science that the universe at the subatomic level does not have solid material objects, but consists of only wavelike patterns which represent probabilities of interconnections between other interconnections, all of which together constitute an inseparable web of inter-relationships constituting the entire universe. Fritj of Capra therefore, views the universe not as “an assemblage of independent parts” but as “a dynamic web of inter-related events” in which each part of the web determines the structure of the whole. Geoffrey Chew views such inter-penetrating and interdependent relationships in the universe in terms of a “bootstrap” theory which implies that all forces in the universe are inseparably linked together, every part affects every other part, and the whole world is held together so to say, by bootstraps. David Bohm refers to a holographic concept which implies not only that every part is connected with every other part within the whole but also that, in a sense, each part contains the whole. This, according to David Bohm, recognises the “Undivided wholeness” of the entire universe instead of the classical idea of analysability of the world into separately and independently existent parts.
Choose the appropriate option
A. there are many solid material objects in the universe 
B. the entire universe has a web of inter-relationships 
C. the universe comprises of a number of independent parts 
D. these independent parts determine the structure of the web

7. In the following sentence a part of the sentence is underlined. Beneath each sentence four different ways of paraphrasing the underlined part are indicated. Choose the best alternative among the four options. 
She was accused of being close-minded and intolerant.
A. did not agree 
B. kept to herself 
C. not open to new ideas 
D. unwilling to discuss

8. In the question below, a related phrase is followed by a group of words. Select the group of words that best expresses a relationship similar to the one expressed in the original phrase.
At one’s wits end
A. cannot say anything funny 
B. not able to think logically 
C. not able to work 
D. clarity of thought


Read the passage given below. Choose the best options for the Question.
IOT has had an impact across all fields, be it industries, government, small or large businesses and even for Personal Consumption. 
What is IOT (Internet of things) you might ask. It’s been a growing topic of conversation for some time now. Put in the simplest term it means anything that has an on and off button and is connected to the internet for receiving, analyzing, storing or sending data. This could mean anything, from the watch that you wear to airplanes that can be controlled from a remote location. According to the analyst firm Gartner, by the year 2020 we’ll have over 26 billion connected devices. That could mean people to people, people connected to things and things connected to things.The new rule of the future is going to be “Anything that can be connected will be connected”. Take for example that when you set an alarm to wake up and that alarm goes off it not only wakes you up but also brews your coffee, sets the right temperature of water for your bath, puts on the television to bring you the latest updates from around the globe and all this before you even put a foot out of your bed. This is all done by simply getting the network of interconnected things/devices that have embedded sensors, network connectivity, software and necessary electronics that collect and exchange data. To show how far we have come with technology and connectivity, we have smart watches such as Fitbit, Garmin to name a few that have changed the way we look at time. We have one device that not only tells us the time but also tracks the number of steps, calories and our heart rate. This watch is actually connected to our phone so with just one turn of the wrist one can tell who is calling or what messages have been received without having to dig through pockets or handbags. IOT is making its presence felt in health care as well. Doctors can now remotely monitor and communicate with their patients and health care providers can benefit from this. Whether data comes from foetal monitors, electrocardiograms, temperature monitors or blood glucose levels, tracking this information is vital for some patients. Many of this requires follow up interaction with healthcare professionals. Formula one cars are also being fitted with these sensors which relays information on the minute moves being made by the driver. IOT has had an impact across all fields, be it industries, government, small or large business and even for personal consumption. IBM, Google, Intel, Microsoft and Cisco are some of the top players in the IOT spectrum. With billions of devices connected security becomes a big issue. How can people make sure that their data is safe and secure? This is one of the major concerns in the IOT that becomes a hot topic. Another issue is with all these billions of devices sharing data companies will be faced with the problem of how to store, track, analyse and make vast sense of the information being generated. Companies are monitoring the network segment to identify anomalous traffic and to take action if necessary. Now that we have a fair understanding of IOT let’s see what impact it’s had on the education sector. The only constant in our lives is change and learning. From the get go we learn, be it to the walk, talk or run. We adapt to the changing times and constantly learn from it. Education or learning as we know it in the broader sense is the most important of all and the one that decides which way we handle those changes to impact us and the world. Today’s world is fast paced and to keep up with this we need an infusion of speed with learning. From the classroom assignments, lectures, blackboards and chalk we have come a long way to what is now known as e-learning (electronic learning) or m-learning (mobile learning). With the GenNext it is imperative to provide the right kind of education. 

9. The rise of technology and IOT allows schools to improve the safety of their campuses, keep track of resources and enhance access to information. It ensures data quality being the top priority but also facilitates development of content allowing teachers to use this technology to create smart lesson plans and ensuring the reach of this content to any corner of the world. How is IOT a concept of connecting?
A. It is the internet in a different form.
B. It is the internet but connected to anything.
C. It is an analysing machine.
D. It is a data collection term.

10. The rise of technology and IOT allows schools to improve the safety of their campuses, keep track of resources and enhance access to information. It ensures data quality being the top priority but also facilitates development of content allowing teachers to use this technology to create smart lesson plans and ensuring the reach of this content to any corner of the world. It is said that we look at time differently now, why?
A. It is connected to different devices.
B. It is in a different format.
C. It is connected to the aeroplane
D. It connects people.

SECTION B LOGICAL REASONING
11. Find the missing group in the sequence: X7D, V11G, T13J, _____, P19P
A. Q15M
B. R17M
C. Q17L
D. R15M

12. Find the missing number in the sequence: 9, 3, ___, 1/3, 1/9
A. 2
B. 6
C. 1/2
D. 1

13. Which word does not belong with the others?
A. 1) Flute
B. 2) Clarinet
C. 3) Saxophone
D. 4) Violin

14. Find the next group of alphabets: CFI, DHL, ILO, LPT, ________?
A. ORU
B. RUW
C. OQT
D. OSV

15. If “VOLKSWAGEN” is written as “UQKMRYZIDP” then “SWITZERLAND” is written as ___________________?
A. RVHSYDFPMOD
B. TXJUAFSMBOE
C. RYHYVGQNZPE
D. RYHVYGQNZPC

16. In an archery match, Suresh’s team got more scores than Mahesh’s team but not as many as Yogesh’s team. Yogesh’s team got more scores than Mukesh’s team. Mukesh’s team got less score than Mahesh’s team.
Which team is in second place in the descending order of scores?
A. Yogesh’s team
B. Mukesh’s team
C. Suresh’s team
D. Mahesh’s team

17. The doctor is a person who looks after the sick people and prescribes medicines so that the patient recovers fast. In order to become a doctor, a person has to study medicine. Doctors lead a hard life. Their life is very busy. They get up early in the morning and go to the hospital. They work without taking a break. They always remain polite so that patients feel comfortable with them. Since doctors work so hard we must realise their value. 
Based on the above paragraph, who among the following is/are doctor(s)? 
i. Kumar Sharma wakes up early in the morning everyday and treats everyone with patience. He usually gives emergency aid to the persons who are injured in accidents. 
ii. Rakesh studied medicine in Russia and practiced medicine there for 2 years. Later, stopped medical practice and turned into some business. 
iii. Shalini works in Apollo Hospitals. She always remains polite so that patients feel comfortable. She is a specialist in providing quality care for the cancer patients.
A. All are doctors
B. Rakesh and Shalini are the doctors
C. Kumar Sharma and Rakesh are doctors
D. Only Rakesh is a doctor

Read the passage given below and answer the Question.
Ten friends attended a marriage, five of them Venkat, Manohar, Ravi, Prasanth and Tilak are sitting in a row facing North and other five friends Vidya, Maya, Divya, Keerthi and Anu are sitting in a row facing south not exactly in the same order. Each friend in a row is facing exactly one from the other row. One of them is using a Skoda Car. Manohar sits opposite to his friend who is using a Ford Car and sits at one of the extremes. The friend who uses a Honda car, is not Ravi who sits second to the right of Manohar. Venkat sits exactly in the middle of Ravi and the friend who uses a Nissan car is not Manohar. Keerthi does not sit at the extreme end but uses a Tata car and sits opposite the friend who uses a Fiat Car. The one who uses a Maruthi car sits opposite to the friend who is to the immediate left of Keerthi. The friend who uses a Toyota Car but not Anu, sits opposite Prasanth. Tilak does not sit at any of the extremes, but sits opposite the friend who uses a Chevrolet car, and is sitting adjacent to Divya and the friend who uses a Mahindra car. Vidya neither uses Chevrolet nor Toyota cars. 

18. Who sits third to the left of the one who uses the Chevrolet?
A. Anu
B. Maya
C. Divya
D. Vidya
19. Which one does not belong to the group?
A. Maruthi
B. Skoda
C. Honda
D. Mahindra
20. Which is the car used by Maya?
A. Toyota
B. Chevrolet
C. Mahindra
D. Ford



SECTION C GENERAL KNOWLEDGE

21. Which country joined as the eighth member of the South Asia Sub-regional Economic Cooperation (SASEC) in February 2017?
A. Myanmar
B. Nepal
C. Bhutan
D. Bangladesh

22. What do the paintings of Ajanta caves primarily depict?
A. Ramayana
B. Panchatantra
C. Jataka Tales
D. Mahabharata

23. The winner of the Jnanpith Award 2017 is
A. G. Sankara Kurup
B. Shankha Ghosh
C. Raghuvir Chaudhari
D. Krishna Sobti

24. Which State government has come up with a Water ATM Policy in April 2018?
A. Haryana
B. Maharashtra
C. Uttar Pradesh
D. Madhya Pradesh

25. Which of the following movies won the Best Movie Oscar Award 2018?
A. The Shape of Water
B. Call Me by Your Name
C. Darkest Hour
D. Dunkirk

26. What is the motto of the Supreme Court of India?
A. Satyameva Jayate
B. Dharmo Rakshati Rakshitah
C. Sarve Jana Sukhino Bhavanthu
D. Yato Dharmastato Jayah

27. The military operation which annexed Hyderabad into the Indian Union was code - named as:
A. Operation Meghdoot
B. Operation Polo
C. Operation Viraat
D. Operation Vijay


28. The world’s first fully Solar-powered Airport is
A. Cochin International Airport
B. Shanghai Pudong International Airport
C. Dubai International Airport
D. Singapore Changi Airport

29. In 2017, eBay India was merged with which of the following Companies?
A. Flipkart
B. Alibaba
C. Naaptol
D. Snapdeal

30. Which is the organisation that initiates and presents the National Film Awards in India?
A. Film and Television Institute of India
B. Central Board of Film Certification
C. Directorate of Film Festivals
D. Prasar Bharati


